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Which of the following communities fiving in a forest in the Abitibi region has the
greatest bicdiversity? Explain your answer.

A) 50 bears - C) 50 bears

60 hares 100 hares

58 beavers 7 beavers

25 fir trees 25 fir trees

15 birch trees 15 birch trees
B) 4 bears D) 50 bears

30 hares 60 hares

7 beavers 58 beavers

5 fir trees 5 fir trees

7 birch trees 7 birch trees

@ $: Which statement is true about biodiversity?

A) The biodiversity of g community is high when al| species in the community are
equally distributed.

B) The biodiversity of a community is low when ali species in the community are
equally distributed.

C) The biodiversity of a community is high when the number of species is low.
D) The biodiversity of g community is low when the number of species is high. ‘

@ # Which of the following events is NOT a disturbance to a community?".
' A) Flood
B) Mud slide
C) A high tide
D) A termite infestation

@ & Which of the following statements is FALSE?
A) Drought is a natural disturbance.
B) An oil spill is a natural disturbance.
C) Flooding irom heavy rain is a natural disturbance. ‘

D) Overfishing is a human disturbance.
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v @ Which of the following statements correctly describes permafrost?
A) All the frozen water on the Earth’s surface.
B) A layer of soil frozen for more than two years.

C} The snow which accumulates on the surface of glaciers. ‘

D) The upper layer of water which freezes when in coftact with cold alir.

@ i Which of the following is a consequence of melting permafrost?
A) Increased primary productivity
B) Decreased erosion

C) Decreased levels of greenhouse gases ‘

D) Decreased decomposition of organic matter in soil

# Which of the following processes does not cycle carbon dioxide (CO,) back into the
\ atmosphere?

A) Photosynthesis

B) Decomposition of waste
C) Forest fires

D) Volcanic eruptions

#. Which of the following activities has the greatest impact on the flow of water in a
@ catchment area?

A) Filling up a child's swimming pool with 40 L of water.
B) Treating drinking water for a city in a municipa! water freatment plant.
C) Rerouting rivers for the construction of a hydroelectric dam.

D) Repairing a bridge connecting Montreal's South Shore to the Island of Montreal.

O # Which of the following will increase the density of a solution?
3 1. Increasing the salinity
2. Decreasing the salinity
3. Adding water
4. Allowing water to evaporate
A) 1only B) 1and2 C) 1and 3 D) 1.and 4




&. Different factors can affect the circulation of surface currents and deep currents in

the ocean.
1. Temperature differences in the water
2. Air pressure differences in the atmosphere
3. Differences in the waters’ salinity
4. The rotation of the Earth
5. The depth of the water
Which of the factors above only effect surface currents?
A) 1and 3 only B) 2 and 4 only C)1,3and5 D)2,4and5 ‘

- What are the characteristics of ocean water which has a tendency to sink?

A) Low temperature and low density

B) Low temperature and high density

C) High temperature and low density

D) High temperature and high density '

# Which of the following statements concerning thermohaline circulation is true?

@ A) Thermohaline circulation allows for the heat accumulated in ocean water at the
Polar Regions to circulate to the Equatorial Region.

B) Thermohaline circulation allows for the heat accumulated in ocean water at the
Equatorial Region to circulate to the Polar Regions.

C) Thermohaline circulation can be compared to a conveyor belt which moves warm
and cold air masses around the Earth.

D) Thermohaline circulation can be compared to a conveyor belt which moves warm
and cold freshwater systems around the Earth.

@ ¥ Which of the following is trye about glaciers and pack ice?
A) Both glaciers and pack ice are formed on land.
B) Both glaciers ang Pack ice are formed on the ocean’s surface,
C) Both glaciers and pack ice contain freshwater.
D) Both glaciers and pack ice form icebergs. ’

i ice?
€. Which of the following statements is true about pack ice?
A) The melting of pack ice affects the salinity of the ocean water. t
B) The melting of pack ice does not affect the temperature of the ocean water.
’ L}

C) The melting of pack ice affects sea levels.
D) The melting of pack ice does not affect oceans. ‘



T uiwie slEtements below correctly identifies the effect of the increase in the

melting of pack ice due to climate change?
A) Loss of habitat for arctic species
B) Rise in the sea level
@ C) Increase In the number of icebergs
D) Flooding of low lying areas

£. Which of the following gases do not contribute to the greenhouse effeci?

@ A) CO,

B) CH,
C) NO,
D} SO,

%. Which of the following statements about the Greenhouse effect is true?

@ A) Anincrease in greenhouse gases in the atmosphere
amount of heat that escapes into space.

B) A decrease in greenhouse gases in the atmosphere
amount of heat that escapes into space.

C) An increase in greenhouse gases in the atmosphere

leads to an increase in the

ieads to an increase in the

leads to an increase in the

amount of solar radiation that will enter the atmosphere.

D) A decrease in greenhouse gases in the atmosphere

leads to an increase in the

amount of solar radiation that will enter the atmosphere.

@ B Which of the following does not contribute to the form
' A) Decomposition of waste in landfills
B) Burning of fossil fuels
C) Melting of the permafrost
D) Photosynthesis in plants

ation of greenhouse gases?

E
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